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Understand Decimal
D iViSion Patterns o ;’:tsl&rzr;ztical Thinking & Reasoning

MTR.1.1, MTR.3.1, MTR.4.1, MTR.5.1,

use patterns to help place the MTR.6.1, MTR.7.1

decimal point in a quotient.

5] 8 UNLOCK the Problem ~

The Healthy Wheat Bakery uses 560 pounds of flour to make

1,000 loaves of bread. Each loaf contains the same amount of ¢ Underline the sentence that
flour. How many pounds of flour does the bakery use in each loaf :znfsi :g e e
?
of bread? ® Circle the numbers you need
to use.
560 X 1 = 560

560 X 0.1 = 56.0
]

560 X 0.01 = 5.60
AV

560 x 0.001 = 0.560
RAAN/

You can use place-value patterns to help you find quotients.
Dividing by 10, 100, or 1,000 is the same as multiplying
by 0.1, 0.01, or 0.001.

One Way Use place-value patterns.
Divide. 560 +~ 1,000

Look for a pattern in these products and quotients.

560 =~ 1 = 560

560 +~ 10 = 56.0 560 + 0.1 = 5,600
R

560 + 100 = 5.60 560 +~ 0.01 = 56,000
RA/

560 + 1,000 = 0.560
RAN/

So, pound of flour is used in each loaf of bread.

1. What do you notice about the quotients as you
divide by 10, 100, and 1,000?
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CONNECT Dividing by 10 is the same as multiplying by 0.1 or
finding 5 of a number.

Example

Liang used 25.5 pounds of tomatoes to make a large batch of
salsa. He used one-tenth as many pounds of onions as pounds
of tomatoes. He used one-hundredth as many pounds of
green peppers as pounds of tomatoes. How many pounds of

each ingredient did Liang use?

Tomatoes: 25.5 pounds

Onions: 25.5 pounds +

Think: 25.5 + 1 =

255+ 10 =

So, Liang used 25.5 pounds of tomatoes,

and

Green Peppers: 25.5 pounds -

Think: +1=

+ 100 =

pounds of onions,

pound of green peppers.

Try This! Complete the pattern.

4 N
0 326-1= O s02-1=
326 + 10 = 502 + 10 =
32.6 + 100 = 50.2 + 100 =
. /O

J

Share and Show

Complete the pattern.
1. 456 ~ 1 =456
456 + 10 = 45.6
456 +~ 100 = 4.56

456 + 1,000 =

()

MTR Engage in discussions on |
[X] mathematical thinking.

How can you determine
where to place the decimal
point in the quotient

47.3 + 100?

Think: The dividend is being divided by
increasing place values, so the decimal

point will move to the
each increasing place value.
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